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|I| Put the fractions into their El Amy makes a repeating
correct position in the diagram. pattern.

Fractions Fractions less
greater than % than % A . . * A . . *

What shape will be in the 50th
position?

Explain how you know.

17
20

3 5 7
8 8 1Z 20 A
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|I| Three points are marked on the El What is the area of the shaded
line below. c triangle?

A Scm

The distance from A to B is twice
the distance from B to C.

17 cm

The distance from A to Bis IS cm.

What is the distance from A to C?
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|I| Trading cards are sold as single

Izl % of a humber is equal to % of
cards or in packs of 5 or |10

a different number.

+ A single card costs 50p The smaller of the two numbers
+ A pack of 5 cards costs £2 is 80

* A pack of 10 cards costs €3.50 What is the value of the largest

number?
Max has €10 to spend.

What is the maximum number of
trading cards he can buy?
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|I| Complete the missing humbers. Izl Mark has €150 and Jan has €120

Mark gives Jan some money.
|28x|2=|28x|0+|28x[:] 9 Y

Jan now has twice as much as
128 x12 = 127 x 12 +D Mark.

How much money did Mark give

128x12=128x6x | Jan?
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|I| Here are some scales.

Izl A shop sells these fruits.

Strawberries
£2.20 per % Kg

Cherries
£3.50 per i Kg

Megan buys

Which is the heavier box, A or B?

é

« 2 kg of strawberries and
« 750 grams of cherries

How much does she spend in

Explain your answer.

total?





